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Things Proved last Time
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Inroppsositionl There are knots in Ep
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TheoremII Let neo There exists a knot
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Proof Let 0 be a generically immersed disk
in B with K 20 C 284 5

Add trivial total self intersections so the
double points of D algismically cancel
Pair these double poines with Whitneydisks Wi
when Wi AO at isolated poines
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Tube 0 into EP call this O 800 x S's rt
D is spherically characteristic ie D X X Xmod20foall
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C With O C 1

So O is a locally floe embedded dishnitndo ka gÉfhtg



The above theorem gives us a lot of
knees with gtp h 0 No claim it'sallottum

Natural Question I

What about the minimalepigens

of torcs knots
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This answers a question
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We can choose the slice dish to be
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So what
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What's Next
ga K 0 Fact Needs uCk 21

All knots with g'd k 0

Better bounds for gaps Tna or Gap far
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